S A S AIXH A D
B geQls CAC MM(UWBBHE/AWHE)
S9l: HRTA 42 CER-E
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
& Al XH 24 f 23,739,178 15,050,481 8,688,697
= 100,000
Fag 9,099,000
== 428,000
Al 14,112,178
Qe TAS MAM(LetI 3N /AL Y) 22,286,878 12,791,668 9,495,210
= 100,000
Fag 8,499,000
== 398,000
Al 13,289,878
HXTA = 22,286,878 12,791,668 9,495,210
= 100,000
Fag 8,499,000
== 398,000
Al 13,289,878
SN NL (=MESH A2 223 4,800,000 3,160,000 1,640,000
Abd)
Fag 1,400,000
Al 3,400,000
201 282 A | 3,000 0 3,000
01 At 2te2ldl 3,000 0 3,000
= 0l & 3,000 0 3,000
O =8884 BANFAH NEE
100,000& 1501 23] 3,000
202 0| 1,800 1,200 600
01 2L 1,800 1,200 600
= 0l & 1,800 1,200 600
O =828 22 g2 s&80bl
60,000 *301 2 53| 1,800
401 AIEHIY20i4] 4,795,200 3,158,800 1,636,400
Fag 1,400,000
Al 3,395,200
01 Al&HI| 4,782,294 2,947,499 1,834,795
g 1,400,000
Al 3,382,294
= 0l & 4,782,294 2,947,499 1,834,795
Fag 1,400,000
Al 3,382,294
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SH EATHA D
HE: Y TAO HA(LNBIHE/AHT)
oell BECAl 2 (B9 @
x s . O &t o8 & & 0] Ak o -
SN BA(3H) - ARAMY - BES o o0 HRE2
O cdSSH AN2s 22X AL
S A 4,782,294,000& » 14! 4,782,294
s 1,400,000
Al 3,382,294
03 Al&=204dl 12,906 10,610 2,296
= 0l & 12,906 10,610 2,296
O 2HLSH A2 BB AL
A& S 4,780,000,000& x0.27% 12,906
SATHMALS =& 52,400 221,600 A 169,200
201 et 50,000 60,000 A 10,000
01 AtR2eldl 50,000 50,000 0
= Ofl & 50,000 50,000 0
OF0I0] S0 ¢HE TAHY e
SE2I4 MH 50,000,000& =14 50,000
202 Ol 2,400 0 2,400
01 2L Y| 2,400 0 2,400
= 0l & 2,400 0 2,400
OZATHAAMEY 2X 2 ot
60,0002 #2011 x4 53] 2,400
SAHMXRAHEH 22 2 216,830 243,398 A 26,568
101 elAd4| 177,510 186,306 A8,796
04 JIZtHZ22HsE+ 177,510 186,306 A8,796
= Ofl & 177,510 186,306 A 8,796
OZANMHMMEXAAEH A B4 161,150
—dHE 3,900,000 x1H x 1104 & 42,900
—MNE=ZE 3,750,000 x1H x 1104 & 41,250
- 8% 3,500,000 «2H«1100 & 77,000
OZATHMTEME =e 282 16,360
— =04z 161, 150, 000& *4.5% 7,252
—HLEE 161, 150, 0002 *3. 12% 5,028
—1E2E 161, 150, 0002 *1.5% 2,418
—MTHEE 161, 150,000& *0. 8% 1,290
— SIS 5,028,000& *7.38% 372
201  LEL2IH] 37,520 50,792 A13,272
01 AtR2Zeldl 35,120 50,792 A 15,672
= 0fl &F 35,120 50,792 A15,672
OZATHY &2 S04
8,000 x5 x5 128 2,400
OMEES 7Y 200,000& »12& 2,400
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S A S AIXH A D
B BeEgs CAC WA(LHBITHE/LuHE)
S9l: HRTA 42 CER-E
M- =3 S92 (3) - HEAY - a2 o @(ijf;ﬁ% HRE2
oaxRE 2¢ 200,000& «12& 2,400
O= AR 72 (Ad) 22,000 * 102t A %128 2,640
O=2 AR 72 (A3) 27,000& 12t A %128 324
O=2 AR 72 (B5) 21,000& *328t A %122 756
O=2A dUHE 200,000& x12& 2,400
O=Z2A2 =0 EYH AIEE 100,000& = 12& 1,200
O&£I Xz 20,000 ~12& 240
OHdEH EHOIX S22 250,000%12& 3,000
OZANMMMARS &H 100,000 »20H *4 3| 8,000
OontsaAl&, AAX oM 480,000 128 5,760
OHdE AMEZ2 AT =4 300,000& x12& 3,600
02 3294l 2,400 0 2,400
= 0ff & 2,400 0 2,400
O2HY S AEe3 200,000& = 12& 2,400
202 0| 1,800 6,300 A 4,500
01 2L 1,800 6,300 AN 4,500
= 0l & 1,800 6,300 A 4,500
OFxEggs o &4 60,000 x30! 22 %53 1,800
TATHAM AIE2 S 22l 28,661 16, 150 12,511
101 ol 24 H| 12,361 0 12,361
04 JIZtHZ2ZXNSE S 12,361 0 12,361
= 0l & 12,361 0 12,361
O AN AId=E 38 A& B
66,8003 *1H 212 81 & 11,223
OZ AN AEZ2 83 3H 33 B8 1,138
—=0d3 11,222,000 *4.5% 505
—2ALE2E 11,222,000 *3.12% 351
- 101s88E 11,222,000& *1.5% 169
—MHEE 11,222,000& *0.8% 90
— A YEE 305, 139& +7.38% 23
201 282 A Y| 6,900 6,150 750
02 =249l 6,900 6,150 750
= 0l & 6,900 6,150 750
ONMZEER tig=s @83
125,000& = 12& 1,500
ONZHEEH HtgEs &4 223
300,000 x6& 1,800
O30y 8HEES I3 1,800
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SN
X ZH -
L=

el

S ALTH 24 1t
gools TAQ HA(LUBITHT/YeHE)
BECA +

o)
{0
]
{0

x s . 0 & o & & 0] Ak o -
SA - B ER(SH) - HRAY - BES o o0 BlRE2
—ot&7JI| 200,000 63 1,200
- &7 100,000 «6& 600
OAMAE I3 120,000& = 12& 1,440
OAMAE S4e3 30,000 =128 360
202 O dl 1,200 0 1,200
01 =AYl 1,200 0 1,200
= Off & 1,200 0 1,200
OZAMMY AIEES 22 I EA
2D 2 YR 60,000 201 x2 2 53] 1,200
206 M=l 3,200 10,000 A6,800
01 M=zl 3,200 10,000 A 6,800
= Ofl &F 3,200 10,000 A 6,800
OSAMMM SCXS W B3 AN &S +
(s, It=2) 400,000 *2A] x4 4 2 3,200
401 A&HIZ=0Hb 5,000 0 5,000
01 A&l 5,000 0 5,000
= Off & 5,000 0 5,000
OZAMMEANEE RAES SA
1,250,000 *4H 2 5,000
R zE 2ol 29 654,440 624,000 30,440
201 LBt 33,240 24,000 9,240
01 AtR2Zeldl 13,800 7,200 6,600
= 0fl &F 13,800 7,200 6,600
OfoZHEA =2 600,000& »12& 7,200
OQI2t2/ & AEAZE A AEA
6,600,000& » 14! 6,600
02 =524l 19,440 16,800 2,640
= Off & 19,440 16,800 2,640
OdIIe3 1,200,000& =122 14,400
OHU S 2= 150,000& =128 1,800
O& .ot 23 120,000& 123 1,440
OZAIA 23 150,000& =128 1,800
202 O dl 1,200 0 1,200
01 =AYl 1,200 0 1,200
= Off & 1,200 0 1,200
ONS AL & 2AHI 2 &2
60,000 2 201 53] 1,200
307  QrzZtol™ 600,000 600,000 0
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S A S AIXH A D
B geQls CAC MM(UWBBHE/AWHE)
S9l: HRTA 42 CER-E
SN BB S(BH) - MBAY - BaS (ggz::) @(ijf;lﬁ% HRE2
05 OCItRIEZ 600,000 600,000
= 0l & 600,000 600,000 0
OZ&M== 22 29 600,000,000& * 14! 600,000
401 AEBIL L 20,000 0 20,000
01 Al&H| 20,000 0 20,000
= Ol & 20,000 0 20,000
OFHU=E MEZE RANES BAM
5,000, 000& *23| x2 A 20,000
MESSIHEH 22 24 278,221 183,640 94,581
101 ol 24 H| 12,361 0 12,361
04 JIZtHZ2Z2XNSE 12,361 0 12,361
= 0l & 12,361 0 12,361
OMBSSME BANH Na 24
66,8003 *1H 212 81 & 11,223
OMEZ3IHE 2tH3EH A& B0 1,138
—=20d3 11,222,000& x4 .5% 505
—H2AEE 11,222,000& *3.12% 351
—NE2EEE 11,222,000& *1.5% 169
—MHEE 11,222,000 *0.8% 90
— A YEE 305, 139& +7.38% 23
201 282 A | 37,980 33,640 4,340
01 At 2t2ldl 15,540 7,000 8,540
= 0l & 15,540 7,000 8,540
OHdlYH A2 2¢ 250,000& 128 3,000
ORoFHSE =2 300,000& 128 3,600
OadtEAdx22 800,000 23| 1,600
OdJItd eI = 150,000& = 12& 1,800
Ol N4+ 249 145,000 *12& 1,740
O& Il KX &2yl 400,000& *2CH 800
O2gds ¢ 100,000& *15H 23| 3,000
02 =324l 22,440 26,640 N4,200
= 0l & 22,440 26,640 N4,200
OnEgY 22 240,000& 13| 240
O3 1,500,000& ~12& 18,000
OQHYSA 2= 150,000& = 12& 1,800
O&sla=& 22 200,000& = 12& 2,400
202 Ol 2,880 0 2,880
01 2L Y 2,880 0 2,880
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SH E AT A
Ha: U A WA(LHTIHT/AHT)
oell BECAl 2 (B9 @
x s . O &t o8 & & 0] Ak o -
SA - B ER(SH) - HRAY - BES iz T HRE2
= 0l & 2,880 0 2,880
OMEB2SHE 2Z2Y X 2250 &
= 60,0002 %301 x22 *83] 2,880
307 QI2H0 A 150,000 150,000 0
05 QI2eletz 150,000 150,000 0
= 0fl &F 150,000 150,000 0
OMZ2SHE YSIHT el 29
150,000,000 *14] 150,000
401 ANZHILLHY 75,000 0 75,000
01 Al&HI 75,000 0 75,000
=0 4 75,000 0 75,000
OME2SHE ANES X 24 A
5,000,0008 *1 5 23l 10,000
OMEZ2SHE 3 AT ZZBM
50,0002 »200 30,000
OMEB2SHE B3 T3 24 B4 A
35,000,000 *14! 35,000
ZONFUEIANL 22 29 157,846 323,880 166,034
201 Qw2 24,146 23,880 266
01 AtR2lY| 7,346 5,040 2,306
=0 & 7,346 5,040 2,306
ORAAHIBY 242 60,0002 122 1,920
O=8J YUE 83,0002 *122 1,056
OFUHFLEIANE 29 22 2123 AN
3002 *2, 0005 *43] 2,400
ONSoUL BABE 7
50,0008 %55 *53] 1,250
ONSoUA ZESEA sIEA 7
40,0002 %30 4 *63] 720
02 ISl 16,800 18,840 A2,040
= 0l &t 16,800 18,840 ~2,040
omJlea 1,000,000 *122 12,000
OoHY 23 100,000 128 1,200
ONB+E 23 50,0002 128 1,800
OZAINA 23 50,0002 122 1,800
301 YPBHB 1,200 0 1,200
09 BAAHIEAS 1,200 0 1,200
=0 & 1,200 0 1,200
OFQUNFLIEIANL 29 F8 #X 0
60,0002 %2024 13l 1,200
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SH: SATHA D
Ha: QIS TAIY THM(UNDIHT/ABHE)
oHel: BECAl &Y CERE
x s . O &t o8 & & 0] Ak o -
K329 (3H) - NRAY - BaS iz T BlRE2
307 BI2t0lH 120,000 300,000 180,000
05 2I2tSIErZ 120,000 300,000 A 180,000
= 0 &t 120,000 300,000 180,000
OFBNRUEIANZ (HEG L) 222
120,000,000 * 14! 120,000
401 ANZHIL ST 5,000 0 5,000
01 Al&HI 5,000 0 5,000
=0 4t 5,000 0 5,000
ONSUUL ANES SX22 BA
2,500,000 15 +23] 5,000
405 TerE S 7,500 0 7,500
02 AT 7,500 0 7,500
=0 & 7,500 0 7,500
ONSOA HSTHE TN 7Y
15,0002 *5002 7,500
SATHY SYAL(SHAIXE) 9,420,000 0 9,420,000
= 4,710,000
Al 4,710,000
101 o124l 156,804 0 156,804
04 JAHIENSES 156,804 0 156,804
=0 4t 156,804 0 156,804
OZMAJIN ERXBHE HARS 134,049
— N2 3,750,002 * 12 11 41,250
-g 03 3,500,002 *2% *11H 2 77,000
el LAAY 66,800 * 12 2052 13,694
—oa YANE BYaY
66,8002 +1.5%12 x21 2 2,105
OZMAINX SEZXNVHE 282 12,005
—- 2003 118,250, 000! *4.5% 5,302
ALY 118,250,000 *3. 12% 3,690
-8y 118,250,000 *1.5% 1,774
— M 118,250,000 *0.8% 946
- PlE=EL 3,689, 4002 «7.38% 273
OZEMANIN SENAME XA AT 10,750
— N2 3,750,000 * 12 3,750
g% 3,500,000 x22 7,000
201 LBt 278,371 0 278,371
01 At 2teltl 248,451 0 248,451
= 0 4t 248,451 0 248,451
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SH E AT A
B ZeQls TAO WA(UUDTDHT/AuHE)
Chelt BECA S (2@
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES Sz T BlRE2
SEETEEECEEEEEEE
SIES 4,000,0002! 33| 12,000
OSHAJIN SATHS ICIUOIE &S
1,500,000 42 » 122 72,000
OB 224E N2H 29
130,002 %158 *153] 29,250
OMGED SHEZA(RSUT ALH HE
s) 20,000, 0002 23] 40,000
OSHAIMNK SZXBME 2| 36,600
—Jlz NesE 500,000 128 6,000
— =MD YUE ¥ FHEY AB2
1,500,0002 « 122 18,000
—- 320 YU 50,0002 « 122 600
—HE 222 TS BENH
500! *1,0005 * 122 6,000
HE NME 472 &4
600, 0002 * 103! 6,000
OB AN 4IEE ERA2H
2,500,000 *43| 10,000
OB AAJIN AYEXHH 29
130,0002 *35| #1274 2 *4JH = OF 18,720
ORER CAMY B0IY SN 222
HI= 29,881,0002 *14! 29,881
02 ISl 29,920 29,920
= 0l 4 29,920 29,920
OZMAJIKN BBXNAME ®IQ3
1,550,0002 * 122 18,600
OBMAINN HHXBME 2223
20,0008 *122 1,440
OZEMAIN SEXAME QEHWRD
50,0002 * 122 600
OBMAJIN BENAME BSE Ho £
%z 1,000,0008! *13] 1,000
OBMAINN SZXNAHME 2L B
+42 30,0002 * 128 3,600
OBMAIK SZXNVME 222 25 2
Ba 3002 1,300 +122 4,680
202 Oft 9,900 9,900
01 2ol 9,900 9,900
=0 4 9,900 9,900
OREL U HARAIIT LB 0fY]
60,0002 *5% x32 #113] 9,900
301 YuBAD 10,500 10,500
09 AR A 10,500 10,500
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SH E AT A
Ha: U A WA(LHTIHT/AHT)
oHel: BECAl &Y CERE
x s . O &t o8 & & 0] Ak o -
N-Z3H.22(3H) - MREAY - BES HE o) (713 o) Hns2
= 0l & 10,500 10,500
OZMAIK SATHA F2 WX 0
60,0008 *352 *53] 10,500
307 QI2H0 A 1,121,750 1,121,750
o 599,750
Al 522,000
02 BIATMMSBE 180,000 180,000
=0 & 180,000 180,000
oMol S FHSH U 021 SHAY
110,000,000 * 14! 110,000
Oune FE YN AY
70,000,000% *14] 70,000
04 DIZFBAAS B E 42,000 42,000
=0 & 42,000 42,000
ONABHE FUAFHN SH
42,000,000 *14! 42,000
05 QI2eletz 899,750 899,750
2 599,750
Al 300,000
=0 & 899,750 899,750
= 599,750
Al 300,000
OZ4Hel BN L YL T2
99,750,0002 *14] 99,750
= 29,750
Al 70,000
OSSUSHED Hg L T2 29
250,000,000 * 1! 250,000
o 250,000
OZANNY L =554 BHG T2
2y 350,000, 000! * 12! 350,000
2 250,000
Al 100,000
OXSRANYE L FoDg T2
200,000,000 *14! 200,000
2 70,000
Al 130,000
401 ANEHLRHY 5,082,675 5,082,675
= 4,110,250
Al 972,425
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SH: SATHA D
Ha: U A WA(LHTIHT/AHT)
oell BECAl 2 (B9 @
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
01 Al&HI 5,070,000 0 5,070,000
2 4,100,000
Al 970,000
= 0 4t 5,070,000 0 5,070,000
o 4,100,000
Al 970,000
ONFEB2 L MEBSC ZHBAHS A A}
xl) 5,070,000, 000! *14! 5,070,000
o 4,100,000
Al 970,000
03 Al& = CH| 12,675 0 12,675
2 10,250
Al 2,425
= 0l 4t 12,675 0 12,675
o 10,250
Al 2,425
ONEZ2 L MESOC ZHZAHSAAIDL
XI) Al & = O bl 5,070,000, 000 *0.25% 12,675
o 10,250
A 2,425
402 UAREO0IH 2,550,000 0 2,550,000
02 QIAXEALRE(OIHHE) 2,550,000 0 2,550,000
=0 &t 2,550,000 0 2,550,000
ONAEH ASS AU S HHX
1,000,000, 000! *14! 1,000,000
ObsxeAs 2 &Y 21292 K&
1,250,000, 0002 *14! 1,250,000
OFHEX STEXF HUNES HA
ik 300,000,000 *14! 300,000
405 T&HF S 210,000 0 210,000
01 KAUSEH S 210,000 0 210,000
= 0l 4t 210,000 0 210,000
OSSNEZAY S HEZAEHL) 25
¢ 70,000,000 *37H 4 210,000
SATHY A (DRI 4,778,000 0 4,778,000
2 2,389,000
= 398,000
Al 1,991,000
101 oIyl 156,804 0 156,804
04 JAHIEXNSES 156,804 0 156,804
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EAM AT

o

B ZeQls TAO WA(UUDTDHT/AuHE)

Chelt BECA S (2@ 8)
x s . O &t o8 & & 0] Ak o -

SA B S(BH) - MEMY - BES iz T BlRE2
04 DIZFBAAS B E 10,000 0 10,000
= 0 & 10,000 0 10,000

OFQUTSH 245 FAHH =
10,000,000 * 14! 10,000
05 QI2eletz 440,000 0 440,000
2 120,000
Al 320,000
=0 & 440,000 0 440,000
2 120,000
Al 320,000
Foel FUEN L YL DRI
e 120,000,000 *14} 120,000
OZ2S4A Saidel Z4 T2 29
50,000, 00021 * 14! 50,000
2 50,000
OZATHA ARZER Z2 I8 29
110,000,000 #1244 110,000
2 40,000
Al 70,000
OFoloizrys T2 29
130,000,000 *14} 130,000
OOIZ®AIZ KR +&  30,000,0008! *14! 30,000
2 30,000
401 ANZHIL LY 3,042, 192 0 3,042,192
o 2,240,082
= 398,000
Al 404,160
01 Al&HI 3,034,000 0 3,034,000
s 2,234,000
= 398,000
Al 402,000
= 0 &t 3,034,000 0 3,034,000
o 2,234,000
= 398,000
Al 402,000
OHEB2 U MEBSIC ZHBAH(LWDE
) 3,034,000, 000% 14! 3,034,000
» 2,234,000
= 398,000
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SH E AT A
Ha: U A WA(LHTIHT/AHT)
oell BECAl 2 (B9 @
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
Al 402,000
03 Al = CHl 8,192 8,192
s 6,032
Al 2,160
= 0l 4t 8,192 8,192
2 6,032
Al 2,160
ONEB2 L MESOC ZHB A2
&) Ae=l 3,034,000,000%0. 27% 8,192
o 6,032
Al 2,160
402 PIATROIH 700,000 700,000
02 QIATEALRE(OIF ) 700,000 700,000
=0 & 700,000 700,000
ORE Z& 0|2 Ha X
300,000, 0002 * 14! 300,000
O WUXNEE He X
200,000,000 * 14! 200,000
Oaa =y 2legd g
200,000, 0002 * 14! 200,000
405 ToHE S 90,000 90,000
01 KAUSEH S| 90,000 90,000
=0 & 90,000 90,000
HIEIDIHE S HEZ2 28 7
90,000, 0002 *14! 90,000
AP (DM L2IX) 480 480
301 YPRND 480 480
09 BAAHIBAE 480 480
= 0 &t 480 480
OARS SATHMAI (D2 HLRIK) =8
¢l X 0F 2 60,0002 *8% *13] 480
ATH HHY Hel BE =7 AY 550,000 550,000
401 ANZHIL2TE 550,000 550,000
01 Al&HI 546,550 546,550
=0 & 546,550 546,550
O At 100,000 *5, 250 525,000
O &l 21,550,000 *14! 21,550
03 Al = CHb| 3,450 3,450
=0 & 3,450 3,450
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SH S AITHAY
X XH - S}
L=

==
=
c©el: FZZA

2 = CERE
SN FHE B (BA) - MEAY - AR (ggj) @(ijf;lﬁ% HDE2
| SNEELT 3,450,000 * 14! 3,450
=%z 38 NUE3 ALY 1,150,000 0 1,150,000
401 AlEHIZL 20 600,000 0 600,000
01 Al&H| 600,000 0 600,000
= 0l & 600,000 0 600,000
OsdH 600,000
R 250,000,000& * 14 250,000
— LA 350,000,000 14 350,000
403 Xk X EHA 550,000 0 550,000
02 =J|& 550,000 0 550,000
= 0l & 550,000 0 550,000
OX =3t 550,000,000+ 1 550,000
20194 230t 200,000 0 200,000
oz
= 100,000
Al 100,000
307 Q1201 ™ 200,000 0 200,000
= 100,000
Al 100,000
05 QIZ2tRAEZ 200,000 0 200,000
= 100,000
Al 100,000
= 0ff &F 200,000 0 200,000
= 100,000
Al 100,000
O20192 30 A AES T 1
g 200,000,000 * 14 200,000
= 100,000
Al 100,000
22N (= EY ! 1,342,500 2,156,700 A 814,200
iy 600,000
= 30,000
Al 712,500
J&E L5 1,342,500 2,156,700 A 814,200
fas 600,000
= 30,000
Al 712,500
J2AEHS 29 142,500 1,554,200 A 1,411,700
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SN

S AITH 28 1t

FH: SAZZUONN(ELXNIMNL/XNSLE AL
©el: FBBHF CERL
x 5 . 0l &k 2 rSRER Page ~
SA B S(BH) - MEMY - BES iz T HRE 2
< 30,000
Al 112,500
201  LEr2gH 28,300 29,000 A 700
01 AFR2Zeldl 21,100 29,000 27,900
= Ofl & 21,100 29,000 A7,900
Oofztzd & ¥ =3 Jtol=etel 2488
=3 5,100
— A 30,000& »100= 3,000
— ZA=E 210,000& =102l 2,100
OZ2aaARs 22 100,000 20 *83l 16,000
02 22224l 7,200 0 7,200
= 0l & 7,200 0 7,200
OO0zt Z22XxH AIEZ2 600,000& »12& 7,200
202 Ol 1,200 1,200 0
01 =LA 1,200 1,200 0
= Ofl &F 1,200 1,200 0
OZ2agds S GRFA =L
60,0003 x2H 2«53 1,200
203 YR =4 8,000 4,000 4,000
03 AH=ANHPFEH| 8,000 4,000 4,000
= 0fl & 8,000 4,000 4,000
OZa 2 IR ArHF=&
8,000,000& »14 8,000
401 A&BIZ =208l 105,000 1,520,000 A 1,415,000
= 30,000
Al 75,000
01 Al&Hl 105,000 1,520,000 A 1,415,000
= 30,000
Al 75,000
= 0fl & 105,000 1,520,000 A 1,415,000
= 30,000
Al 75,000
O2322Z9% s8ltHA & =5 853 H3
At 600, 000& *50m 30,000
= 30,000
O=2ds A4AEH3 B2 ZEMY
25,000, 000& *1 25,000
O¥Es LHel ZH(FAdF2 =&HOIE
~okOtE) 25,000,000& » 14 25,000
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SN
X ZH -
L=

el

[ —
el
[
—

3

AL TH &4 1t
ANZZONN(IELXN LML /NAL A
2 d 35t

o)
4
[pal
o

SH-EH. (AN NRANY - B o) ) HDE2
OFZAS L2l 4 (skES~2LoteH
=) 25,000, 0003 =14 25,000
Sd or2tgd & Arg 1,200,000 600,000 600,000
s 600,000
Al 600,000
401 A&BIZ =208 1,200,000 600,000 600,000
Fax 600,000
Al 600,000
01 A&l 1,200,000 600,000 600,000
s 600,000
Al 600,000
= 0l & 1,200,000 600,000 600,000
Fax 600,000
Al 600,000
Osd or2td a2 HASAY
1,200,000, 0003 %14 1,200,000
= 600,000
Al 600,000
HHSHBU (ZAITHAH D) (D1EH/DJIE) 109,800 102,113 7,687
ol 29| 44,492 43,213 1,279
ole 2 A 44,492 43,213 1,279
101 elAd4| 44,492 43,213 1,279
01 2= 44,492 43,213 1,279
= 0fl & 44,492 43,213 1,279
SRR
10,299% x 12 «30A| 2tx 123 44,492
Jl=234l 65,308 58,900 6,408
JIE23l 65,308 58,900 6,408
201 LEt2I| 31,108 24,700 6,408
01 At 2eltl 31,108 24,700 6,408
= 0l & 31,108 24,700 6,408
OJlg MRESHI 50,000 x16Z *83| 6,400
OFLEZEZ #¢ 40,0003 *35 +x103] 1,200
O=ADl dXtz 220,000& x1CH =123 2,640
O=AI EH & EE FIot AER
535,000& x1CH~12& 6,420
OSsAEX 2l (A4)
22,000 * 10t A x12E 2,640
O=AMEX 2HI(B5) 21,0002 58 Ax12& 1,260
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SN

S AITH 28 1t

M. HESHBHI (S AITHAH D) (I1EH/DIE
chel: JI23l (chg:®
SA BB (3AH) - HRAY - BA= (o) ) HDE 2
OsAMEX FHI(A3) 27,000 «28t A x12€ 648
O&F=J gtz 45,0003 *1CH 123 540
ONZEXN R=ZT 60,000& 75 43| 1,680
OJlE gexaE As S20hA
8,000 16F x5 x12& 7,680
202 Ol 4l 31,200 31,200 0
01 =AYl 31,200 31,200 0
= 0ff &F 31,200 31,200 0
OJl2g! 8= 2As 2UHEE b
20,0003 x13F 10 «12& 31,200
203 YR F&Hl 3,000 3,000 0
04 EN2EAHARFAHI 3,000 3,000 0
= 0l & 3,000 3,000 0
ORA2ILRF=LH 250,000& «12& 3,000
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